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DO NOT BEGIN WORKING UNTIL THE PROCTOR TELLS YOU TO DO SO
You have 75 minutes to complete this exam including the "bubbling in of your scantron". The exam consists of
three parts: Part I is 10 binary response questions worth 2 points each for a total of 20 points; Part II is 20
multiple choice questions worth 3 points each for a total of 60 points; and Part III is two problems worth 10
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1. Print your last name, first name, and middle initial in the spaces marked "Last Name," "First Name," and "ML" Fill
in the corresponding bubbles below.
2. Print your student ID number in the space marked "Identification Number." Fill in the bubbles.

3.In "Special Code" column A, please enter your exam version number (located at the top of this page) and then bubble
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o If you believe there is an error on the exam or you do not understand something, make a note on
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e When you are finished, please get up quietly and bring your scantron sheet and this exam booklet to
the place indicated by the proctor.
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I, , agree to neither give nor receive any help on this exam

from others. I understand that the use of a calculator or communication device on this exam is
academic misconduct. I also understand that providing answers to questions on this exam to
other students is academic misconduct, as is taking or receiving answers to questions on this
exam from other students. Thus, I will cover my answers and not expose my answers to other
students. It is important to me to be a person of integrity and that means ALL. ANSWERS on this
exam are my answers. Any violation of these guidelines will result in a penalty of at least

receiving a zero on this exam.

Signed

I. Binary Choice:(10 questions @ 2 points each = 20 points)

g,f—j)/ 1. An example of inelastic demand would be the demand for: f> | nedaste = nef /7”':1&2
(é))an operation to get your appendix removed if it was about to rupture. goywr-a‘_l"'t =) Be
b) a double chocolate frozen custard in a waffle cone. § uhest et @
G bots () fadrbbales D Eluot? Cludtis a1, 77,
EA / 2. Which statement is correct? The more elastic the demand for a good is: / -
a) the greater the revenue increase from an increase in the price of that good.
@he greater the revenue increase from a reduction in the price of that good.

Use the figure below of the market for widgets in a small, open economy to answer this question.

Price of a Widget

Domestic Supply

Domestic Price s == = ==

World Price = = — e — e \World Price

Domestic Demand

[
T~
ab Qa Quanlity of Widgets

Eﬂ'f/ 3. Given the above graph, what quantity is the quantity supplied by domestic producers of widgets?
a) Qu
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D{/;%:ﬁ?\- 4. Suppose the government imposes an excise tax on bicycles. It requires suppliers of bicycles to pay a
$50 tax on every bicycle they sell. The economic incidence of the tax refers to:
a) the fact that the seller pays the tax, not the buyer. =2 Léfd-( Fncederce
O)the degree to which the seller can shift part of the tax to the buyer by charging a higher price.
O who hears ccondwnd Pnden /)bt Fay
5. Suppose the government imposes an excise tax on 20 different goods, and in each case requires the
%JJ( 2wl ¢seller to pay a tax to the government equal to $10 for each unit it sells. Among these twenty goods the
seller will pay more of the tax relative to the buyer: * / 5 7 ./
a) the more elastic is the demand for the good.
b) the less elastic is the demand for the good.

Prv V/'tf'jh MMA&/‘—-?sa
QE?:A/ ., 6.In comparmg college tuition at the University of Wisconsin between 2005 and 2015, which price is a
price adjusted for inflation?
‘a) The nominal price W Lan e e /4"‘ e Lenee, CoOwprds 7rbas 67
@The real price (Ua - denommnaled @nornls

EAT )/ 7. George has $100 in income and the price of Good A is $10, whereas the price of Good B is $20. Let Q,
be the quantity of Good A that George consumes and let Qg be the quantity of Good B George consumes.
Given this 111f0rmat10n which of the two cgmbmatlons below is it possible for George to consume‘?

Q)QA_6 Qe = oy = /0 %467,4 Fﬁﬁ‘qyff

b)QA:29Q13=6 /3 = JolC)e RO(Z) 4,o+9'0 =10

an ”/aa Jo(2) # 20 (6)= [0 Fr0v X
DEF A/ 8. George wants to consume some of Good A and some of Good B. A particular indifference curve for
George for Good A and Good B represents:
Qaﬂ the combinations of Good A and Good B at which George would be equally satisfied. v
) all the combinations of Good A and Good B that George can afford’to consume given his income and

the prices of the two goods. LQW ¢ Ao W

)?E#bh(/c. 9. Suppose a manufacturer of custom-made canoes has a facility where these canoes are made. The size of

Dgp,v the facility is such that six people can work comfortably in the facility and be productive. However, there
is room enough in the facility for more than six people to work and adding additional people beyond six
does increase production. Therefore, the manufacturer hires more than six people when he needs to
produce canoes faster than he can with six people. In fact, hiring a seventh person allows him to increase
weekly production of canoes from 100 to 112 per week. In the context of this example, the concept of
dlmmishmg marginal returns would predict that hiring an eighth person would: _
a) cause the total cutput of canoes per week to fall below 112 canoes. X /1/0" oeipy wt el f‘

Jallow a further increase in total output of canoes per week, but the 1%@@@ 12
canoes.

DE FN. 10. In perfect competition each producer can sell the good only:
({}t the market price, which means the producer is a “price taker”. i
) by being so competitive that the producer’s price is below the market price./<

Z- a«é‘ﬂ/“’w’(%
(s %M/J;«f



II. Multiple Choice: (20 Questions @ 3 points each = 60 points)

Use the figure below to answer the next THREE (3) questions.
This figure depicts the market for a small economy for good X. In this figure the domestic demand and
domestic supply curves are linear.

Price (3)
Domestic Supply
1%
10
Graph is NOT drawn to scale
Domestic demand and supply
are both linear
[
‘{ = PE Price with tariff
> Pw World price
Quantity (Tons/week)
0 2 4 6 8 10 12

E/H/ 11. If the market represented in the above graph is closed to trade, then the value of consumer surplus is

, the value of producer surplus is , and the value of tot{al surplus is .
a) $36; $18; $54 CS:’ é(,z_(;)[;) = z('C)fﬁ): B p _—.)Cl-ng&&u
b) $36 $36; $72 Tmce M mnassits s CS = 8EF
c) $24; $24; $48 coe Sk, H hece ©
(4)518; $18; $36 pre=s‘ce-01t6)= 2%

7TS=cs+ V¥ >¥34
EAT )/ 12. Suppose this market opens to trade. If this market is open and there is no tariff, then the value of

consumer surplus is , the value of producer surplus is , and the value of total surplus is .
a)$3£?;:$2);<$36 Puwe2 DDi Pz=ld-@ 6o H2=2/0=>A,=2"7
b) $50 $47854 L fsr-2)Cre) = £Cro)cro) = ASO
Vv CfM £ 5L Be # Ab(.t./
50; $27 $52 s 2 -0)(2) = Lca)(e) = ?-:-_764‘115‘ .
3) $18; 345 $22 Ppate = %5 € - =

é’?fﬂ /V 13. Suppose this market opens to trade but at the same time the government imposes a tariff as marked in
the graph on this good. Then, the value of consumer surplus is , the value of producer surplus is
, and the value of total surplus is :
: = D _ G /
e N RN e A 2 S S
!. 2 = L :
c)$6%$s;$72 05, o= 4 (12-9)(P) = £C8)CF) #32

d) $64; $4; $68 /”fﬁujz’ ‘é(?"@)((");}{—(‘/)(y) =K f:}féﬂ%&{

ﬁ'fcmﬁ; (‘/S% 2 /J;g,,,,,/z -¥% %o
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Use the following information to answer the next THREE (3) questions.

Donald Zurcher is operating a bus company that is a monopoly in Econtown. Demand for bus trips is
given by P =4 — (1/2000)Q, where the price is in dollars and Q is the quantity of bus trips per day.

14. What is the point elast1c1ty of demand for bus trlps when P=§1? p
@53 J Lohen { = a
S /= ¥- GMJ

L
Z));im & —1-7[“00 Cp?aw)Q
Es = [‘QOW_] - 3

1 5 What is the equation for the marginal revenue curve for Donald Zurcher’s bus company?
4 - '
R =4 -(1/1000)Q Y e, D lben e

MR 4 - (1/2000)Q % # W"’?"’fv ,/4;0,1(_7:.:4&74;

¢) MR = 8 (1/1000)Q
d) MR = 8% (1/2000)Q /e = (zwo)

mre = 4‘ (/ow)qy

16. Now suppose that Super, a taxi company, increases their prices. Which of the following could Donald

Zurcher use to predict the effect of this price increase on the quantity demanded for his company’s bus
trips?

a) The elasticity of demand for bus trips with respect to the price of bus trips. ol 7
OThe cross-price elasticity of demand for bus trips and taxi rides. €~ Johce Fee /ouLc 47 a W d"’""f

¢) The income elasticity of demand for bus trips. to

d) The elasticity of supply of bus trips with respect to the price of bus trips. X

dr)ao



Use the information below to answer the next THREE (3) questions.

Consider the market for picture frames that can be described by the following equations where Q is the
quantity of picture frames and P is the price per picture frame:

Demand for Picture Frames: Q = 10 - (1/4)P

Supply of Picture Frames: Q =P
Suppose that in this market for picture frames an excise tax of $5 per picture frame is imposed on
producers of these frames.

P

J%;; 7t - 17 Prior to the imposition of the tax, the total surplus in this market is equal to | b0 : after the

f;/(@z/r’;,ﬂéimposition of this tax, the total su?lus in this market (include the government's share of the S#rplus as
2,5V

part of the total surplus) is equal to 15'?_.50, and the deadweight loss due to this tax is equal to
a) $40.00y $16; $2.50

b) $160.00; $108.00; $5

c) $320.50; $157.20; $5
@Smo.oo; $157.50; $2.50

PﬂEchm/ﬂ.El 8. Given the imposition of this excise tax on picture frames, relative to the initial pre-tax equilibrium
price, the price per unit paid by consumers 1 while the net price received by producers 5& ;
a) i.ncreases by $8% decreases by $0 (_7 f fo #12 D an i £7 gy
b) increases by $>F; decreases by $4
c) increases by $4; decreases by $44 &

@)increases by $4; decreases by $1 ‘l/ hAFDay 07 %/

19. Suppose that the demand curve is not the one you were provided but is instead a perfectly inelastic
demand curve that can be written as:

Demand for picture frames: Q =6
If the government imposes an excise tax of $5 per picture frame given this demand curve, then the price
to consumers once the excise tax is imposed would be L, the quantity of picture frames sold would
be L , and the total tax collected by the government would equal & .
a) $11.00; 2% $8.00

b) $10.00; 6; $30.00 P
(€)$11.00; 6; $30.00 < @
~ d) $16.00; 6; and 3;30.‘90 9 ]
B@. . :
/0 - “’gf J sT
kel 1, KRl N -
Fe =% 5%‘:;“ : b C ‘/-)(#— vai'ls)
de =0~ 7(8)=% R box rw = {7‘”‘7/‘/’“ 7 :
T8 10 . *CES" 7‘) (6Um?l’)
7§< £ (¥o-0)C®) ) Qe ALY
;‘;:%f:)—ﬁ/éo s 1T o ST = k730
Usr: p=s¢q [ Q= 10- 5 (1)
. 4 £ < lp"‘gs" Cpf"'_ z(rl }Xg ?) #2 So 7
O - T - - - N = .
Y155 e X lug - 2.50+ BIS7.5D

7= 2 TSwitay =
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Use the information provided below to answer the next THREE (3) questions.

i 63/"2' W'(‘.'xdj;

)]
¢ Hﬁﬁwf’éﬁppose an individual has $120 available to spend on widgets (measured on the x -axis) and gadgets 24

on THE
/#A720
SIPE

ON THE
A-AR)
SIHE

on THE

HArd
JE

(measured on the y-axis). This individual knows that the price of widgets is $10 per unit and the price of
gadgets is also $10 per unit. When this individual maximizes their utility given their income and the
prices of the two goods she consumes a bundle of widgets and gadgets that consists of 6 widgets and six

gadgets. =7 pond Ami3L,

When the price of widgets falls to $5 per unit and everything else is held constant, this individual
consumes a bundle of widgets and gadgets that consists of 8 widgets and 8 gadgets. =720/ /3 ov /3 L 2

If this consumer were constrained to face the new prices (price of a widget is $5 per unit and the price of a
gadget is $10 per unit) while having the same level of utility as she had initially, the consumer would
consume 10 widgets and 4 gadgets. =7 PDM C on {3!_3

20. Given this information, the income effect of the fall in the price of widgets from $10 per unit to $5 per
unit is equal to:

a) an increase of 2 widgets. < e

b) an increase of 4 widgets.

¢) a decrease of 4 widgets.

d) h decrease of 2 widgets.

21. Given this information, the substitution effect of the fall in the price of widgets from $10 per unit to
$5 per unit is equal to:

a) an increase of 2 widgets. WW J7 X ot /“ «» (0
it

@au increase of 4 widgets. 6 o ¥
c) a decrease of 4 widgets.

| g =D y¢thwn 7/
o) a.decrease of 2 widgets. C,ﬂ y 4 Ju,aw é‘ffccf SL ‘%:: ‘7
' /}ﬁf‘é‘*{%c/‘:lf)‘/aﬂ% e
22. Given this information, the income compensated budget line (what we called budget line 3 in class) is

one based upon the new prices (price of widgets is $5 per unit and price of gadgets is $10 per unit) and

just tangent to the initial indifference curve. In this example, this budget line is drawn with an income
level that is equal to:

a) $210, since the change in the price of widgets resulted in this consumer having greater purchasing
power.

b) $120, since in these problems income is held constant no matter if a price change alters the consumer's
real purchasing power.

¢) $90, since the change in the price of widgets resulted in this consumer having greater purchasing
power.

d) $150, since the change in the price of widgets resulted in this consumer having greater purchasing
power so to find the new budget line 3 the consumer's income must be increased due to this increase in
purchasing power.

' &
Aly Contrms [0undple of 4 puue ) K 5 Jundpel” = 52
A g0 a\wf/j

%Wéw"‘“ 8




I1AzP 23. When Juanita finished college she took a job in August of 2014 for $40,000. Her mother told Juanita
that she (the mother) took a job when she finished college in 1994, and it paid only $33,000. She said
Juanita was much better off than she (the mother) had been in her first job after college. Juanita had taken
economics while she was in college. She told her mother that it wasn’t clear who earned more, in real
terms, adjusted for inflation. Juanita looked up the CPI for 1994 and 2014, and found it was 180 and 240,
respectively. Based on this information which one of the following statements is correct?
a) We do not have enough information to convert the mother’s salary to its equivalent measured in 2014

dollars, X

@J'uanita’s mother earned $44,000 expressed-in-2014 dollars. ./ '
c) Juanita’s mother earned ($33,000) * (180/240)* 100%, expressed in 2014 dollars.

d) Juanita earned $33,000 * (180/240) * 100%), expressed in 2014 dollars.
/'-K

ﬁf—j/')/ 24. In January of 1995 the CPI was 150 and by April 2011 it was 225. By what percentage did prices rise

as measured by the CPI between January 1995 and April 20117

E) 17 55{3% Fg =250 J ¢ o0 7~)
) 75% /759

c) 33%
A - CN?JZ») 507,
=3

]

"7‘ /_5 rh /ﬂM)b-

25. Sup (}se that Joey's demand for ice cream cones is given by the following equation where P is the
N lane

pnce,‘per ice cream cone and Q is the number of ice cream cones:
Q=100-10P

Currently the price of an ice cream cone is $2. Using the arc elasticity formula calculate the price

elasticity of demand if thCe\pjice of an ice cream cone increases by $1 The price ela

equals: 25 ‘rjf [9 #2 => &, = ’zo éf) =
a) 4. =47 = =
b) 1/4. if ’92 s

c) 3.

[

@ 1/3.

Year Konlalay  CP! feat faliny

_ o0y i
1% 33,000  op = ___27(100)

@@,
Pz“"f
rotl

sticity of demand

= ?‘°"%

¥

A>87

1999 #33/% [ v

Lo 40,004 (00 = [000 (/@);ﬂ
201% ‘o, 000 29¥¢ ¢

CI"//gyzorV

/959 ﬁaaw)=}s’ = el = )-l_/c%;‘l_(ff.(,&)

= 33009 crow)

wry  10? .
Lok b 20074 = 2
N / = lloeo (f/%"
ﬂa«e = v [too] 25,

(2—'{0) i
[t = wim (B) |
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Use the figure below of a firm's cost curves to answer the next TWO (2) questions.

In this figure, MC is the marginal cost curve, ATC is the average total cost curve, and AVC is the average
variable cost curve.

Price per unit mcC

i
[ﬂ( (A’rc % Quantity of Good

MEDIVA] 26, In the above figure, at quantities of output where points on the marginal cost curve lie below points on
the average total cost curve, the production of an additional unit of the good:

2
“a)increases total cost by less than the average cost per unit. ATCa M w A7 ™ 7"3‘

) increases total cost by more than the average cost per unit. X
¢) reduces total cost. X Ay @7 = 7 ]
d) reduces fixed cost. ¥ /€ ¢ ﬁ Xed Ddoes net 4

MEDIVAM  27. Based on the above figure:

a) the firm must always operate at the quantity of output at which MC and ATC intersect Jady 4 LA
b) the firm must always operate at the quantity of output at which MC and AVC intersect. xMusf Fotfisse
B . . _ mec ?AVC R
@e firm’s average fixed cost must be declining as the quantity of output increases.{

d) the firm’s total fixed cost increases as the quantity of output increases. \
> Sthee FC wwﬁf?;

4‘:@@%4%2:%7 a7, 15
Vet ot am cac S’f;;C:ES_

a
Nfﬂwhmg’r
Q) et “f

Sran PSE FE
e

10



EATY

menpiymM

MedivmM

Use the figure below of a perfectly competitive market and a representative firm in this market to answer
the next THREE (3) questions.

Representatlve Firm Markel
Price per Unit Price per Unit

Market Supply

Ppe

Rarkel Demand

@ ‘qz a3 Firm quantity, q Market Quantity, Q

LKk SR
28. The firm views its demand curve, d, as horizontal at the market price, because:
a) the market demand for this product is perfectly elastic.X /Haetes desaeandvs m//m_/é U’é ‘/M 2

b} the firm believes the demand for this good is perff:_czl_)_/_gl_el_a_gtic. X Form fee. Wh/ﬁc /4 ‘-/6 claith?
c)the firm is a price-takerﬂmd it behaves as if it can sell as much of the good as it wants without

affecting the market price of the good. v

d) the firm is a price—taker',/but the firm believes it will still affect the price of the good if it sells too much

of the good. % W,f"m alesee Mf%(j;ada;

29. We know that a perfectly competitive firm can vary the amount of output it produces and sells in the

market. Given the above graphs, this firm will maximize its profits at: 2 e M =1C

a q{‘%ecause total revenue will increase more than total cost if the firm increases output by one unit.
2 because at q less than g, the firm when it increases output by one unit will raise revenue more than

it increases cost, and at q more than qs, the firm when it increases output by one unit will raise cost more

than it increases revenue.

¢) q3 because at q less than qs, the firm when it increases output by one unit will raise revenue more than
it increases cost.

d) g; because the higher the output, the more of the good the firm can sell without lowering the price of
the good.

30. A firm maximizing profits in this market will have @ economic profits in the short run and in the

long run txf: h of firms will cause the supply curve to shift to ther , which will cause economic
profits for the firms in the market to go to zero.

a) negativés exit; left
b) positive; exi?,’]eft
©) positive; entry; left

@Ositive; entry; ri ghtV

11



III. PROBLEMS (2 problems @ 10 points = 20 points)

1. The market for bananas in a small, closed economy can be described by the following domestic

demand and domestic supply curves where P is the price per unit of bananas in dollars and Q is the
quantity of bananas in thousands:

Domestic Demand: P = 200 - 10Q
Domestic Supply: P =20 + 200Q G0
In the world market for bananas the price is $40 per unit of bananas. ? W= #

a) (1 Point) Below what price will this country import bananas if it opens its banana market to trade with

the /rest of the world? o #
4 J/’de-é-—l : - vy
f fm: i Soom 200 —to@ = 2ot 30Q %‘:i‘j/%’hf
(kv 7 30Q 4 M)’- of S
0 e mAY e
/¥ =L ) nle prele e ltss Thinn
20 / Doown - P = 2o0—tol6) /%0 f/ﬁ/;: F/) barmnns
. Q

b) (2 Points) Once this economy opens the banana market to trade how many units will be imported or
exported? Give a number and indicate if the economy is importing or exporting. Hint: Provide units of
p measurement in your answer-and be thoughtful here!

AoV foa-.. D:Jf/"/'; 40 = ﬁ:iaa—/a@
= /6
140 /0@'} /6 ‘%WMX 741414.“-
— — Ot /s, Led
|
,W= 4o /| T N /wﬁ/l re J//N=70=> 40 ~ 20+ 0@
& ‘ g : Doom ;w{'; 20 P ///:
l ( It 20 « d%,,_ / Snpoplecd Méﬂ-&ﬂ,

/ﬂry)nz:_ = /5‘; ode A—ﬁ-‘-—«___
¢) (3 Points) Suppose the government of this small economy opens the market for bananas to trade but
imposes an import quota of 9,000 bananas. What price will bananas sell for in this small economy after

¢  the quota has been imposed? Neles 2 |
e 7 t Quote. !
foom t Pusta lor?a. Smgrnt Bus :
/
5 - o

”qp // Qpesmnsr ¥ 02’7’”%‘4 e = D oom ,:
7, ' g 7

¥ _= L £ 9 = L p

P . . \ 26 f'— / '20 = Jo

}3-0 2 7 D 0@ ~160=200~1o@

I g Lp e CQ Jo§= 360
(QAJ:‘U/J;‘
Aomuy
;09
2
2.




d) (2 points) From class discussion we know that imposition of an import quota in an open market results
in deadweight loss. Calculate the value of deadweight loss due to having less efficient domestic

producers produce more bananas once this import quota is imposed. Hint; Show your work-be careful to
get the right "scale” of units in your final answer.

)

DWL  dee Pousiypless L A
o - £ (Vpon-tartd )@;ﬁ %’;:)

" 70 Virtane,~ I0T rsnst
= 4 (‘%/bw- # 10/ fruans) ( ) .

s

1)

L (#8fraaoa 0090 Frnene)
%lo’ 000

W\

e) (2 points) Instead of using a quota the government could have imposed a tariff. Assuming the
government did not impose a quota, fill in the table below.

Tariff Imports

$0/unit of bananas /5,000 [rtnens.
#%0 pnit /) Paasass| 9,000 bananas

13



2. The figure below illustrates the market for widgets, which is initially in an equilibrium with supply
given by Ssg and demand D. The market for widgets is perfectly competitive and all firms are identical
with marginal cost and average total cost as shown in the figure below. Price is in dollars and all
quantities are in units of widgets.

p Widget Market $/unit Widget Firm

SH( | MC

o / PlomK | /,«-ATC M?,;
8 >
/v
/ :

: Q q
Q. 600 20 40

rn [/C
a) (1 Point) What quantity will each individual firm produce in this market in the initial short-run
equilibrium? State which two things the firm is setting equal to each other to maximize profits.

;%f:?/gf/wz ﬁzjzh SR ">wz4_\,523u/¢,7‘,5aw Bro=mc =

Fhio gCCW&j&MQwMCIé{(ﬁ

b) (1 Point) Suppose in the initial short-run equilibrium there are 10 firms in this market. What is the
market quantity (Q.) in this equilibrium?

'Cdui n{.._‘,_,, ‘r‘OM%&Z pre) VK ts s /ﬁ/élr‘m/% Cﬁ -
[%o mc’%ﬁ;ﬁm) (/o/rn-f ) =" FODwr dpT

¢) (2 Points) In the initial short-run equilibrium each firm has total revenue of #1{00 and has total costs of
. Show how you found your answers for full credit!

Te=p.g = (Bropmdpet) (fom2gT) = 4 402
TC= /’r/Cg (@-ﬁ/maéd)(%m%at) $3{6

14



d) (1 Point) Will firms enter or exit this industry in the long run? Briefly explain how you determined
whether there would be long run entry or exit and what will happen to the supply curve in this market in
the long run.

— & .
nece Tog 30 ((T=TR-TC 5o I/ Y0 Jhere cntt fe

4/4rm,}\7"'vé.»;ma/azf
% o 4 . M%X}Lﬁ% n@"‘?‘\ﬂvﬂﬂ‘j‘
/f{:gwl@ff_@m,ﬁ.faé/ﬁ

e) (1 Point) At the breakeven point for all firms in this market the price is‘g 0‘2 and firms produce a
quantity of L0un iefly justify your answer.
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f) (2 Points) Determine the values of each of the following when this market operates in the long run.

The market price = éf CF / wn #‘ f-

The market quantity = é ay Mé}(x_

The number of firms in the market = 30 /é\hw
7
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g) (2 points) Suppose each firm has an average variable cost equation given by AVC = (1/10)q + 4.
Calculate the fixed costs of each firm.

ﬁm@) T = /60
> P =) AVC = ;OL‘/)/-‘/
? X0 #&Z‘ ; /f(ij}?‘
Ave =6

vc = Avc- i
:@g/wg,})[w omPe? = B /20

7C= FcrVec =PC+ 290 = /)66
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